g (z05) EABEAQD TR 2 44 4 AKBEHE HAH
(E B BIEEHR)

1 H
£ Bt % % o JLIG; 5

1010 3] +4| 1,254 +3] 1,311 +7 2, 565 +8| 1,059
1020 J& 94 93 187 71
1060 XL -10| 1,626 -11| 1,673 -21 3,299 +1| 1,232
1070 = HE +9] 1,926 +8| 1,946 +17 3,872 +11| 1,578
1080 HHEFHE 760 +2 764 +2 1,524 +1 609
1090 XEFHH +1 658 +1 635 +2 1,293 +1 487
1100 3K +2 497 +6 485 +8 982 +5 376
1110 B +2 83 +2 75 +4 158 +2 53
1120 FHAH -6 489 -4 571 -10 1, 060 -6 448
1130 Eq/r gy -1 27 35 -1 62 -1 20
1150 pBEL +5| 1,592 +5 1,613 +10 3, 205 +5| 1,282
1160 FrEr#h -1 129 119 -1 248 87
1180 =#n -4 621 -8 651 -12 1,272 -2 500
1200 IJRXE—TH -3 477 -1 444 -4 921 ) 287
1210 (F°XE_TH +2 322 +2 303 +4 625 +1 192
1310 F#ET +1 757 -6 740 -5 1,497 +3 608
1320 ‘HARHET +1 472 +1 498 +2 970 +1 419
1330 EFOHT -] 491 572 -1 1,063 428
1340 dLET +2 532 534 +2 1, 066 -1 460
1350 =#B[—T H +3 178 166 +3 344 +4 142
1360 =#BT_TH +2 465 474 +2 939 +1 389
1370 FkHET -1 984 +4| 1,058 +3 2,042 -1 798
1380 EERT 709 +5 711 +5 1,420 +4 566
1390 _TH -6 538 512 -6 1,050 -3 477
1400 E—TH -2 277 294 -2 571 -1 259
1410 =TH -3 308 -2 332 -5 640 -1 284
1420 RMMTH -3 353 +3 369 722 -1 320
1430 jJERT—TH +5 298 313 +5 611 +4 270
1440 JEET_TH +9 428 +4 435 +13 863 +8 339
1450 BEAB—TH -2 477 -6 511 -8 988 -2 485
1460 HEAERT _TH +2 223 +1 241 +3 464 -1 196
1470 EAKBT=TH -1 258 -3 290 -4 548 -1 199
1480 RAETUT H +2 233 -1 255 +1 488 +1 195
1490 T LET +5 487 -3 481 +2 968 408
1500 FIHET -1 337 -6 337 -7 674 -2 275
1510 ¥ —T H +1 592 +1 658 +2 1, 250 -2 566
1520 W —TH -2 625 -1 630 -3 1,255 +1 531
1530 #RILET—TH +1 238 +1 237 +2 475 +2 222
1540 AEILBT—TH -3 294 -2 321 -5 615 -1 278
1550 ¥E5ILET=TH 246 251 497 215
1560 = HiET -1 487 -2 494 -3 981 -1 394
1570 VEHET +1 338 +2 362 +3 700 +1 292
1580 A FHT 280 -1 322 -1 602 +2 257
1590 FBT—T B -2 305 -4 332 -6 637 -4 288
1600 ABT—TH 425 423 848 385
1610 ABT_TH -3 364 316 -3 680 -1 309
1620 ABT=TH -1 412 +2 411 +1 823 -1 372
1630 A<BTPUT H +5 971 -7| 1,011 -2 1,982 +1 859
1640 HRET_TH +1 239 +1 250 +2 489 +2 208
1650 HRET=TH =2 282 -1 302 -3 584 -1 248




#BX (z05) EABERAD TR2 44 4 AKABIE A

(= Br RBIEEHR) .

£ B ) LS % A

1660 &HHT -2 230 -1 247 -3 477 -1 211
1670 AZHT +2 554 +1 580 +3 1,134 +4 469
1680 =ZHT -1 772 -4 764 -5 1,536 +2 627
1690 JEHET -2 715 -1 696 -3 1,411 630
1700 B4 BT +2 754 +1 780 +3 1,534 +2 642
AT #i X +6| 28,483 -19| 29, 228 -13 57,711 +45| 23,801
Ha 2 -3 72,251 -19| 71,841 -22 | 144,092 +113| 55, 477




B (205) EAREAR ERL2 44 4 AKRABEE A
(FE P BIEHR) 2 B
FE B 5 Ly i K

2110 EXHE +5 773 775 +5 1, 548 +2 504
2120 fE= -2 384 -1 358 -3 742 +1 253
2130 /N 6| 1,910 -1] 1,973 -7 3, 883 -6| 1,472
2140 BF +19] 1,885 +11] 1,733 +30 3,618 +31] 1,569
2210 AHE -3 1, 441 +7 1, 405 +4 2, 846 -2 1,049
2220 FXE -3] 1,814 -2| 1,806 -5 3, 620 +3| 1,233
2230 G 507 -1 462 -1 969 326
2240 B4 572 600 1,172 +2 376
2250 =% 476 +1 465 +1 941 293
2310 BR3bn -2 611 -2 588 -4 1,199 +1 391
2320 B&IZS -4 762 -1 745 -5 1, 507 -2 538
2330 WHHHA 96 71 167 62
2340 _EwIF 79 62 141 49
2350 EqAR -2 2,291 -1| 2,188 -3 4,479 +6| 1,757
2360 ZK¥E +3 1,132 +8 1,090 +11 2, 222 +2 789
2370 HiIAK 429 +1 466 +1 895 266
2410 R, -8| 3,611 -5 3,437 -13 7,048 -5 2,878
2420 TR +1| 1,150 1,067 +1 2,217 +6 850
2430 X2 680 +2 654 +2 1,334 +4 520
2440 WHAER -3] 1,190 1,105 -3 2,295 +1 887
2450 A +1 719 +1 665 +2 1, 384 -2 536
2460 &R +4| 2,398 -4| 2,324 4,722 1, 809
BFnHL X 24,910 +13] 24,039 +13 | 48,949 +42| 18, 407
A EiD -3| 72,251 -19] 71,841 -22 | 144,092 +113| 55, 477




g (zo5) EABIIRAD V2 44 4 AKABIE E
(FE Br BIEHR)
4 B
F B ) LS o JLIR

3010 &&)I +8[ 3,963 +14] 3,960 +22 7,923 +20| 3,015
3020 FE 138 136 274 102
3030 EFFnH +2 282 -1 261 +1 543 +2 162
3040 Ef5A -3 457 -1 447 -4 904 =2 310
3050 FHH -2 511 -3 512 -5 1,023 +4 371
3060 FHH -4 310 -4 280 -8 590 -2 211
3070 KFnH -4 647 -3 675 -7 1, 322 +1 462
3080 #FrFuME 137 133 270 80
3090 {3 -3| 2,154 2] 2,142 -1 4, 296 +2| 1,555
3100 EEE)II +3 514 -1 529 +2 1,043 +2 365
3110 HLH -8 3,108 -10 3,053 -18 6, 161 -3 2,143
3120 &8 +2 611 +1 593 +3 1, 204 +3 413
3130 [LH 781 -3 742 -3 1,523 -2 499
3140 JkiLuH -2 150 -1 168 -3 318 -1 114
3150 EA=PF5H 365 -1 344 -1 709 226
3160 B4 +5 721 -1 677 +4 1,398 +1 421
3170 BRI -6| 3,249 +1| 3,146 -5 6, 395 2,298
3180 LA 47 44 91 28
3200 FHE[EHE 130 120 250 80
3210 PEREIHE 98 98 196 57
3220 FEEHE +3 406 -2 429 +1 835 +1 312
3230 JbiE & 79 85 164 45
=FnHh X -9] 18,858 -13] 18,574 -22 37,432 +26] 13,269
o 2t -3| 72,251 -19| 71,841 -22 | 144,092 +113| 55,477




